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Solutions

1. Carl says the size of the piece of cheese shown is 20 cm?.
Explain what mistake he is making.
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2. Bob wants to know how much foam is needed to fill a
wedge-shaped pillow. What does he need to calculate,
surface area or volume? Justify your response.
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3. The dimensions of
a right triangular
prism are given.

15cm
9 cm

a) Determine its
12 cm

surface area.
b) Calculate its volume.

a) SA = ZA;
:ZC’Ii <27

+3[:5

—
—

7 4O cm

xQ) + (m_xS)

+<(§><5
| o8 + bo + 45+ F5

= L < |2xax5 r &
b) VO( 2 < | 2 ald Vo\w‘%-

|6 1> 2
/&( *&‘

-y—(%(S)
)




7.50 Surface Area or Volume of Triangular Prisms.notebook April 25, 2019

4. The diagram shows the dimensions of R |
an isosceles triangular prism. b) \/O‘ — E > 2.(("' x (é3> X ZS
= 40

1
a) Determine its surface area.
b) Calculate its volume. '

5. The scoop on a backhoe is an equilateral a) What area of sheet metal was used to
e———

triangular prism. make the scoop?
b) How much liquid can the scoop hold?
<) How much earth might the scoop hold?
55 cm Explain your answer. (
48 cm 1B C_/_ nNo +OF .
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that is a triangular prism.

a) Find the least amount of cardboard

6. One type gf chocolatg is packaged in a box > SA = 2_AS + 3 D_S

39cm “‘C"\B _cm 2- (2_ [a S 7(3> +<16 ?&S)
16 cm 5cm +_ 2-<3-qx(6>
needed to package each chocolate bar. —_ IS -+ & -+ ,ZL{'T %

Round your answer to the nearest unit. [ q 8
b) The manufacturer needs to allow for the - Z 2
overlapping part that makes up the = Z ZO & o)
seams. How much cardboard is needed — 22(/\’\
o ZQ —
for each box if 10% more is added for b) ’ (- /0 o"c Z
the seams? ZZO 4 22—-
c) If 1.2 g of chocolate fills 1 cm?, how Tdf‘a( —

many grams of chocolate fit in each box? -— ZQ—Z o

7. Decide whether the following statements
are always, sometimes, or never true. Justify
your answers using pictures and words.
Then, change each statement that is
sometimes true to make a similar statement
that is always true.

a) The surface area of a ggangular prism

can be found by add area of NQVJ /)’Y‘U\Q

the triangular faces to the area of the
rectangular faces.

b) The volume of a tr_iangular prism can be A‘IU\J < 717-(4_6

found by multiplying the area of the base

calculated by dividing the base area of a

rectangular prism by two. +_ b
LA needs ‘ e j

5/22 o

by the height. e
) The base area of a triangular prism is § :m®/"\me5 ’} A
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8. Samantha is preparing a project for her
science class. She has decided to demonstrate
the nature of white light as it passes through
solid glass prisms. Her teacher asks her to
show some related calculations. 20 cm x

1
i
Using the dimensions provided, help 16 cm g 25 ¢m
Samantha determine the amount of glass 24 cm
used to make the triangular prism.

Vol =

9. The school has hired construction

TyThist wworkers to build a wheelchair ramp to \/O ‘ = é‘ X(O0SXO .8s x| 2
the entrance. 0\) 3
= S.35Sm

1050m
a) How much concrete is needed to make ’ !
the ramp? b) SA 2 A.S Z =]
b) The exposed surfaces of the the ramp are 85)
to be painted blue. How many cans of — Z <—-— X (O. ; X O,
paint are needed? One can covers 20 m?.

.85)
#asy +(1.2%°
theare o frd X, (12 10.53)
z = uo.°\+’l5

x
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